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#pragma rtGlobals=1 // Use modern global access method.

//         Co <--a/b-->C1 <--c/d-->C2<--e/f-->C3<--g/h-->O

Function SequentialFour(pw, tt, yw, dydt) // four transitions five states
Wave pw //pw[0]= alfa1

//pw[1]= beta1
//pw[2]= alfa2
//pw[3]= beta2
//pw[4]= alfa3
//pw[5]= beta3
//pw[6]= alfa4
//pw[7]= beta4

Variable tt // time variable
Wave  yw //yw[0]=  C0

//yw[1]=  C1
//yw[2]=  C2
//yw[3]=  C3
//yw[4]=  O

Wave dydt
Variable B

B = 1
dydt[0] =                       -pw[0]*yw[0]+pw[1]*yw[1]
dydt[1] =           -(pw[2]+pw[1])*yw[1]+pw[0]*yw[0]+pw[3]*yw[2]
dydt[2] =           -(pw[3]+pw[4])*yw[2]+pw[2]*yw[1]+pw[5]*yw[3]
dydt[3] =           -(pw[5]+pw[6])*yw[3]+pw[4]*yw[2]+pw[7]*yw[4]
dydt[4] =               -pw[7]*yw[4]+pw[6]*yw[3]

End


